MATHS

BOOKS - TELUGU ACADEMY MATHS
(TELUGU ENGLISH)

THREE DIMENSIONAL CO-ORDINATES

1D Vsaq

1. The distance between the points (5,-1,7) and

(c,5,1) is 9then c =


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ArgeXHxU5pVu

° Watch Video Solution

2.Show that the points (1,2,3), (2,3,1) and (3,1,2)

form an equilateral triangle.

o Watch Video Solution

3. Show that the point 'A(-4, 9, 6), B(-1,6,6),

C(0,7,]0) form a right angled isosceles triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_ArgeXHxU5pVu
https://dl.doubtnut.com/l/_A4ERVej3uOBh
https://dl.doubtnut.com/l/_RtXIy139DMe6
https://dl.doubtnut.com/l/_KutGPHUt3w4W

4. Show that ABCD is a square where AB,C,D
are the points (0,4,1),(2,3,-1),(4,5,0) and (2,6,2)

respectively.

° Watch Video Solution

5. Find the distance between the mid point of
the line segment AB and the point (3,-1,2)

where A =(6,3,-4), B = (-2,-1,2).

° Watch Video Solution



https://dl.doubtnut.com/l/_KutGPHUt3w4W
https://dl.doubtnut.com/l/_PYI2t5ahbFOg
https://dl.doubtnut.com/l/_e1xNYt92s2hS

6. If M(a, 83,~) is the mid point of the line
segment joining the points A(zq, y1, z1) and

B then find B.

° Watch Video Solution

7. If (z1,y1,21) and (z9,ys, 29) are two
vertices and (a, 8,) is the centroid of a

triangle, find the third vertex of the triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_e1xNYt92s2hS
https://dl.doubtnut.com/l/_31CzcaVo9aoR

8. Find the coordinates of the vertex 'C' of
AABC if its centroid is the origin and the

vertices AB are (1,1,1) are (-2,4,1) respectively.

o Watch Video Solution

9. If (3,2,-1),(4,1,1) and (6,2,5) are three vertices
and (4,2,2) is the centroid of a tetrahedro, find

the fourth vertex to that tetrahedron.

o Watch Video Solution



https://dl.doubtnut.com/l/_i65klI52V5g8
https://dl.doubtnut.com/l/_B5v3irNCGZQW
https://dl.doubtnut.com/l/_pV9krW9ZSkAU

10. Find the fourth vertex of the parallelogram

whose consecutive vertices are

(2,4, —1),(3,6, —1) and (4,5, 1).

o Watch Video Solution

11. Find the ratio in which YZ-plane divides the
line joining A(2,4,5) and B(3,5,-4). Also find the

point of intersection.

o Watch Video Solution



https://dl.doubtnut.com/l/_pV9krW9ZSkAU
https://dl.doubtnut.com/l/_YHSSe0juNdoP
https://dl.doubtnut.com/l/_E0TldENsi6LV

12. Show that the points (5,4,2),(6,2,-1)

and(8,-2,-7) are collinear.

° Watch Video Solution

13. Show that the points
A(3,2, —4),B(5,4, —6) and C(9, 8, — 10)
are collinear and find the ratio in which B

divides AC.

o Watch Video Solution



https://dl.doubtnut.com/l/_E0TldENsi6LV
https://dl.doubtnut.com/l/_eDgYmle3G833

14. If H, G, S and | respectively denote
orthocentre, centroid, circumcentre and in-
centre of a triangle formed by the points (1, 2,

3),(2,3,1) and (3,1, 2), then find H, G, S, |

° Watch Video Solution

15. Find the incentre of the triangle formed by

the points (0, 0, 0), (3, 0, 0) and (O, 4, 0).

o Watch Video Solution



https://dl.doubtnut.com/l/_V6Xy6hDq74dX
https://dl.doubtnut.com/l/_4mZlIwXX98wN
https://dl.doubtnut.com/l/_zbnMLqd7rhpD

16. Find the centroid of the tetrahedron whose

vertices are (2,3,-4) (-3,3,-2),(-1,4,2), (3,5,1)

o Watch Video Solution

1. Find the ratio in which the XZ-plane divides

line joining A(-2,3,4) and B(1,2,3)

° Watch Video Solution



https://dl.doubtnut.com/l/_zbnMLqd7rhpD
https://dl.doubtnut.com/l/_yt5cEgmzhjte
https://dl.doubtnut.com/l/_vUZlzbycrZYW

2. Show that the points (5,4,2),6,2,-1)

and(8,-2,-7)" are collinear.

o Watch Video Solution

3. Show that the
A(3, —2,4),B(1,1,1),C( — 1, 4,

collinear.

points

— 2) are

o Watch Video Solution



https://dl.doubtnut.com/l/_vUZlzbycrZYW
https://dl.doubtnut.com/l/_weDVXr8hdDQ8

